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=S Al 9,901,513 8,388,513 1,513,000
P 9,901,513 8,388,513 1,513,000
= 9,653,257 8,140,257 1,513,000
DEXSE 6,987,500 6,059,500 928,000
=2NEX=S 6,987,500 6,059,500 928,000
511-01 212X =S 3,121,500 3,043,500 78,000
Oasfimel 7 (&g A) 78,000 0 78,000
511-02 29 - NGEASLEIHELRS 3,065,000 2,415,000 650,000
OM&at&otHeleilg =4 950,000 300,000 650,000
511-03 JI= 801,000 601,000 200,000
OMoiMAeldl =HXMCIAL 200,000 0 200,000
THIEX=SS 2,665,757 2,080,757 585,000
521 Al - THIEXZES 2,665,757 2,080,757 585,000
521-01 Al - SHIEXZ=S 2,665,757 2,080,757 585,000
ogetod 2= 481,250 393,750 87,500
02009 HEHOlE ZEALY 0 87,500 A87,500
OM&EItHele0le = 285,000 90,000 195,000
OEEZ =EHXS XA 390,000 0 390,000




